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> f(x) = sum(p"f[il(x),i=0.3);
f(x) =fx) +pf(x) +P7 f(x) +p f(x) &)
;> #ves
> H(x,p) = ( ) - (diff (f(x),x$4)) dzﬁ‘(f(x),x$4) + alpha- (x-diff (f(x),x,x,x) +3
diff (f(x 1+R (f(x) dlﬁ” f , X, X, X) dzﬁ(f(x),x)-diﬁ‘(fix),x,x)));
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> s[0] = —— fo(x) =0;
d4
8y = gﬁ)(x) =0 @)
> ics[0] = f[01(0) =0,£[01(1) =1, D (£[01)(0) =0, D(f[0]) (1) =0;
lcso f0 =0./,(1) =1,D” (£)(0) =0,D(£) (1) =0 8)
(> dsolve( {s[0], ics[0]}):
fo(x)=—%x3+%x )

> assign (%)

> for i from 1 to 3 do
s[i] = coeﬂ(eq.? p) 0;
ies[i] = f[i1(0) =0, f[i1(1) =0,D'? (f[i]) (0) =0, D(f[i]) (1) =0;
dsolve({s[i], zcs[z]}),
Slil(x) = rhs(%),;

end do;
s1:=—3R(—%x3+%x)—12ax+3R(—%x2+%)x+§x—2ﬁ(x)=o
ics; =1,(0) =0,£(1) =0,D? (£)(0)=0,D(£) (1) =0
fl(x)=ﬁR +%0¢x +%(—%R—% JX3+(710R+%OC)X
fl(x):=ﬁR —|—1—100cx +%(—%R—%a)x3+($R+%a)x
s2=—3($1e +%o¢x +%(—%R—% )x3+($R+%oc)x)R
—|—(in +60cx—%R—%oc) (—%x3+%x)R+ %Rx4+6ocx2
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+ 1955923200 ( 27720 R~ 4+ 593208 R” o0 + 2638944 R o,

1

+406560 R o) '

+3104640 o) & + (-4365 R® — 159544 R® o — 1378608 R o’

543312000
3\ 7 1 B 2 3\ 5 1
— 310464 —  (-10512 R*a— 182336 R =
30600c)x+77616000( 0512 R* 0. — 182336 0c+5765760c)x+6(
8951 3 463 479 2 64 3\ 3 2047 4
0L Sy R 1L R Rol — — =2 p
53508000 171600 X *F 12250 K% T 2625 O‘)x + ( 73573500
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Vb Ay . R
i 84084000 © *~ 441000 ** T 2625 ¢ ) ¥
> f(x) = subs({R=5,alpha=0.2}, f(x));
F(x) = -0.5708442354 x> + 1.539132268 x + 0.01380082214 x” + 0.02265526448 x° (12)
+0.003833900227 x'' — 0.008206689342 x° + % x> —0.0003878066378 x'>
> fIHPM](x) == evalf(f(x));
foypag(X) == ~0.5708442354 x* +1.539132268 x + 0.01380082214 x” + 0.02265526448 x° (13)

+0.003833900227 x'' — 0.008206689342 x° + 0.00001647657898 x'°
| —0.0003878066378 x"°
> plot( fIHPM](x),x=0..1);
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